#define NUM_OF_REQUESTS 10

struct shm {

    int id;

    int info;

};

int main(void)

{

  int res, fildes[2];

  int pid, i;

  res = pipe(fildes);

  if (res == -1) {

     printf("error in pipe creation\n");

     exit(1);

  }

  pid = fork();

  if (pid == -1) {

    printf("error in fork\n");  exit(1);
  }

  if (pid == 0) producer(fildes);

  else {

     pid = fork();

     if (pid == -1) {

        printf("Error in fork\n"); exit(1);

     }

     if (pid == 0) consumer(fildes);

     else

        for (i = 0; i < 2; i++) wait(0);

  }

}

void producer(int *fildes) {

  struct shm s;

  long ndfs;

  struct timeval timeout;

  fd_set rdfs;

  int end, retval;

  s.id = 0; s.info = rand();

  ndfs = ulimit(UL_GDESLIM);

  while (1)   {

     write(fildes[1], &s, sizeof(struct shm));

     printf("Egrapsa id = %d, info = %d\n", s.id, s.info);

     FD_ZERO(&rdfs);

     FD_SET(fildes[1], &rdfs);

     timeout.tv_sec = 0;

     timeout.tv_usec = 100;

     retval = select(ndfs, &rdfs, NULL, NULL, &timeout);

     if (retval == -1) {

        switch(errno) {

                case EBADF:  printf(“EBADF\n”);
                        break;

                case EINTR: printf(“EINTR\n”);
                        break;

                case EINVAL: printf(“EINVAL\n”);
                        break;

                default: printf("Unknown error\n"); exit(1);

        }

     }

     if (retval > 0) {

        read(fildes[1], &end, sizeof(int));

        if (end == 1) exit(0);

     }

     s.id++; s.info = rand();

     usleep(rand());

  } 
}

void consumer(int *fildes)

{

  struct shm s;

  int count = 0, end = 1;

  while (1)

  {

    
read(fildes[0], &s, sizeof(struct shm));

    
printf("Diabasa id = %d, num = %d\n", s.id, s.info);

    
count++;

    
if (count == NUM_OF_REQUESTS) {
        
 write(fildes[0], &end, sizeof(int));

         
exit(0);

   
}

  }

}

